
ODEAssignme.int/2-
To turn in Tuesday, June >
1. Trailing Averages ; 2. p .

/73 #t; 3.p.tt#6jt.p.tt#8Problem1-Trailing Averages ;÷?⃝b.<a(a)The difference of Heaviside functions
that is only non-zero for b- tea
is HH-b)- HH-a)
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EOE (cont 'D ) used definition
(b) Let gA) =HH

-b)- HH-a) .

then
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what is 61st ?
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[661]A)= Alt-b)-HH-a)✓✓

(c) ¥sfÉ!fk)# usedthe task on

p- 175(line t) and the
double- check is

=#¥1T)glt -e) do
trivia
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because g /t-t) is only¥¥¥É nonzero when
b.<a bat - c- < a☒
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or t-b > t > t - a ✓

(d) By the convolution property Cp . 160),
the Laplace transform of this is
⇐ Hs ) 5- (e-↳- e-as)

[the
end of the window is t

If we put b=o , the- this iswhich is what Ioriginallyt.at/s)ts(1-e-as) ← thought tosa- was

going after in p . 163 #0



Problems Logan p . 173
#4

Insteadof 82ft ) , I prefer 8/1--2) .
Solve

✗
"+4=86--2) with ✗61--1%1=0

É¥¥±⇔=é
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Fagan calls
"the sifting property

"

Equation 3-7
on p. 168

So ¥7s)=¥¥
The Éaplace transform of€ is Sint

By line 5 of the table e-asks/ becomes Hltaftal
So ,%%- becomes
HIT-2) sin (1--2)

Sketch it :
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Problem3-loganp.tt#6xH4X--o1t-zH-8(t-5it)
with ✗101--0

Laplace transform of LHS is 1%1=0

É
Laplace transform ofRHS is
e-
2*5
- e

-
5*5

✗It /=L _'[¥+4 /e-2%-5*5)]HI
= {[H It - Zit) sinzlt -21T)
- HIT -51T ) sink t -51T )]

= { ( HH -2*7 -11-(1--5114) sin 27
↳Ém

Zit to 51T only
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Problem-tloganp.tt#8x7X--f1t) with Noto
,
✗Yoko

and

f.lt/--oH)t8/t-Ht8(t-2it)t.-.----H) were just one of these
we know the answer :

Jlt -met) becomes e-
mi's

and ✗It ) is the inverse transform
of e-

MITS
HH-mñlsinlt-mit

sink-MIT) is Sint ifm is even and-sint ifm is odd.

Since we have an infinite series of unit impulses,
the response is the sum

✗HI --Em% filmHH-mñsint
Here is the graph :
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